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Part A

Answer all questions.
Each question carries 1 weightage.
1. Define profit maximisation.

2. What is economic value addition ?
it 3. Mdo you mean by payback period ?
Wi _: indifferent point ?
i s safety stock ?
Yyou mean by birds-in-hand argument ?

(6 x 1 = 6 weightage)

Part B

Answer any six questions.
Each question carries 3 weightage.

e functions of financial management.

t discounted cash flow criteria of capital budgeting.

rs determining dividend p(\)licy of a firm.

. of excessive working capital.

" s of cost of capital,

prporate governance for a firm.

ted usage of 60,000 units of a product during the next year. The cost of

. 25 and the carrying cost per unit is Rs. 1 for one year. Lead time on an

pany will keep a reserve supply of two days’ usage. You are require
: order quantity and the reorder point (assume 300 days year).

Turn over
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000 on an investment of Rs. 10,00,000 in assets.
at taxes do not exist. Using the NOI
otal value of the

000 debt.

14. A company has a net operating income of Rs. 2,00,
It can raise debt at a 16 percent rate of interest. Assume th e
Zry » the
approach and an overall cost of capitalisation rate of 12 percent, compute th

firm and the cost of equity if the firm has no debt, Rs. 3,00,000 debt and Rs. 6,00,
' (6 x 3 = 18 weightage)

Part C

Answer any two questions.
Each question carries 6 weightage. ,

15. ABCLtd. sells goods on a gross profit of 25%. Depreciation is considered as a part of cost of production.
The following are the annual figures given to you : ’ w
Sales (2 months credit) Rs. 18,00,000 |

Materials consumed (1 months credit) 4,50,000

Wages paid (1 month lag in payment) 3,60,000
i Cash manufacturing expenses (1 month lag in payment) 4,80,000
~ Administrative expenses (1 month lag in payment) 1,20,000

S Sales promotion expenses (paid quarterly in advance) 60,000

e company keeps one month’s stock each of raw materials and finished goods. It also keeps
. 1,00,000in cash. You are required to estimate the working capital requirements of the company
n cash cost basis, assuming 15% safety margin. ' :

xplain the implications of dividend policy on share price, according to Walter's model, for growth

]

Per year, six years. A

~1 w of
. The required rate of return of both equipment is 11 percent Callc{:i 40
: a

,_»ipment' . Which equipment should be accepted and why ? te the IRR and

A has a cost of Rs. 76,000 and net cash flow of Rg. 20,000

@x6x19 Weightage)
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